
/
/ Quiz 2, Math 209, Winter 2OOT Name:

S. \  ,  $ t  ons
Directions: Show ALL of your work to get credit. If you leave something out, then you may be
penalized. No calculators. Good luck!

IMPORTANT: There is a second side to this quiz. It has 4 problems

L. [5 points] Compute L(*,y) of the function

l @ , i l  : 1

at the point (6,3).
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z : f i 2 r * a " ,  r : 1 r u 2 * w 3 ,  u : u r a e - .

Find, ffi where u, :2, u -- L, and u.r : 0.
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3. [5 points] Determine the set of points at which the function / is continuous where

i lx'u) : { 
ffi ir (r' Y) I (o' o)

[  0  i f  ( r , y )  :  (0 ,0 )

Make sure to give reasons why.
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4. [5 points] Use the definition of partial derivatives as limits to find fr(x,a) where
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